Literature Spot B L>V| asiv

Read the following lines from Around the World in Eighty
Days carefully, then answer the questions that follow:
aliwVl e w>lg bog Gwiles 8 pllell Jg> @ad oo adldl lawVl 1,31
1. The train stopped at eight o'clock, in the midst of a glade some
fifteen miles beyond Rothal, where there were several bungalows
and workmen's cabins. The conductor, passing along the
carriages, shouted, "Passengers will get out here!"

a. What kind of house is a bungalow? )
S98 wondl o yusll 295 g9 Sl
b. Where did the train stop? O lasll adgi ol
c. Why did the passengers have to get out there?
Cld Jgydl uydlundl Hlool [5led

au>5g0ul GUL>YI
a. a house with one floor 2>y gl o Jjio
b. In the midst of a glade some fifteen miles beyond Rothal.
c. The train cannot continue its journey because the railway line
hasn't actually been completed.

2. ‘Yet you sell tickets from Bombay to Calcutta,’ retorted Sir
Francis, who was growing warm.
‘No doubt,’ replied the conductor, ‘but the passengers know that
they must provide means of transportation for themselves from
Kholby to Allahabad.’
'Sir Francis,” said Mr Fogg quietly, ‘we will, if you please, look
about for some means of conveyance to Allahabad.’
a. Three Indian cities are mentioned in the text, what are
they? CUoJl 01D sd bo (padl (88 W,SS @uud Ve ¥ s
b. How did each of Sir Francis and Mr Fogg react to the
situation?
Sgooll 138 (59 299 sl 9 Hudl Y9 65, wilS S
c. What does the expression "growing warm" mean?
¢"8,l,> sl>; growing warm" ueidl (susy 5o
d. What is the name of the village where the train
stopped? Olasll s Wiy sl a8l powl bo
e. Why is Sir Francis annoyed during his conversation with
the conductor?

SOSI! gbld) o punSUl go aibislo JUS axeiil Guwiilyd sl 1500
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a>dg0il LI

a. 1. Bombay 2. Calcutta 3. Allahabad

b. Whilst Sir Francis gets easily angry, Phileas Fogg is calm and
assured.

c. getting annoyed

d. Kholby

e. He is annoyed because he feels cheated by being sold a ticket
to somewhere the train doesn’t go. ]

Vo ulSe (sJl 8,535 0gel 48 wlb ga318 ail e @V aciio ¢a
sl adl ol

3. ‘I shall go afoot,’” said Phileas Fogg.

Passepartout, who had now rejoined his master, made a wry
grimace, as he thought of his magnificent, but too frail Indian
shoes. After a moment’s hesitation, he said, ‘Monsieur, I think I
have found a means of conveyance.’

a. Write down the facial expression that showed
Passepartout was in pain and unhappy? c
picy pVU Hein U giuwl ol de Js Sl azgl juei WSl
Cos el
b. Why did Passepartout’s face show this expression?
C il 118 wgiywly axg guogl 15led
c. What was the means of transport that Pssepartout
found? €93l a>g il Jadl aduwg oS 13

aL>do0ull GULLVI
a. a Wry grimace
b. Passepartout wasn’t happy because he didn't want to walk far,
as he didn't think his shoes would be sturdy (strong) enough.
V @il oS dausy @8lun) csairow Ol 30w V GV uew S0 o) ¢5,Lowl
ayleSJl a9 Loy Lgd LgSiw Al Ul assie,
C. an elephant

4. They soon reached a small hut. Enclosed within some high
palings, was the animal in question. An Indian came out of the
hut, and, at their request, conducted them within the enclosure.
The elephant, which was reared, not to be an animal that merely
carried things around, but for warlike purposes, was half-
domesticated.

a. How was the elephant reared? Cheadl auyi pi S
b. Which words tell us that the elephant was kept safely
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away from direct contact with humans?
o e bl a4 blaisVl oo Juodl Ol bz il wlods)l s b
¢ id] o JLaiVl
a>5904l LY

a. The elephant was reared for fighting. .Jltel J.oJl a5 o0
b. enclosed, palings

5. Happily, however, for Mr Fogg, the animal’s instruction in this
direction had not gone far, and the elephant still preserved its
natural gentleness. Kiouni - this was the name of the elephant -
could doubtless travel rapidly for a long time, and, in default of
any other means of conveyance, Mr Fogg resolved to hire him.

a. How do we know that the elephant is not aggressive?
Sloae pud Juall O By S
b. What idea do the above lines represent?
SesdeVl (88 oVl e i sl 3,58l b b
c. What was the name of the elephant? Cdwadl ool o
d. Kiouni had some characteristics that encouraged Mr
Fogg to hire him. Write down to characteristics.
e. In contrast with the train, how was the elephant,
described as a mode of transport, a more positive
investment?
a>5904ll LY
a. ‘It still preserved its natural gentleness’ meaning that it does not
want to fight.
c oyl Ol a0y V @l sasy 1idg ("seudbl aslaly bhais Jip V a]”
b. transport sl
c. Kiouni
d. 1. the elephant still preserved its natural gentleness.
2. the elephant could doubtless travel rapidly for a long time
e. The elephant, a live animal, is described like a mode of
transport, it ‘could doubtless travel rapidly and for a long time'. In
this situation, the man-made transport fails, whereas the animal
seems to be a more positive investment.
W el aiSoy BB (Joi aliws Jio Wl oy cs> Ulgy> (Jusll
oo (sl Jadl iy @l 0in (09 " aligh §yualy dcyun i
ool ST Llosiw! @l lgaw Olgasdl 13 Losw «Joinss ol VI
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6. It only remained now to find a guide, which was comparatively
easy. A young Parsee, with an intelligent face, offered his services,
which Mr Fogg accepted, promising so generous a reward as to
materially stimulate his zeal. The elephant was led out and
equipped.

a. Who did Mr Fogg hire as a guide for his journey?
Caid>,J JuJadl UeSd 269 amudl )>lwl oo
b. Why did Mr Fogg offer the guide a big reward?
CdJUl (sde 8,08 asdlSo 299 sl Lo,e 15o)
a>5904ll LY
a. A young Parsee
b. to materially stimulate his zeal.

WLl gwysS Wie slag]



